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(1) [3] Determine the equation of the line of slope —2/3 through the point (1,—1) .

Hore waz =2 (;3) = (1,-1).
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(2) [4] Determine the slope and y-intercept of the line 2z — 3y =5 .

2')(-36 =S
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(3) [3] Determine the equation of the line through (1,4) with slope undefined.
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(4) [5] Temperature can be measured using degrees Celsius (°C)) or degrees Fahrenheit (°F'), and
the relationship between the two is linear. Given that 0 °C corresponds to 32 °F and 100 °C"
corresponds to 212 °F, determine an equation relating °C and °F.

Lt % = temperalin. (°C)
9= Tewperifurn (F).

o _ %‘_2;23_%4 . \$0 _ 9
= (o~ © - {oo B S '
212 (Loo\uﬂ

opo ""32.-_— %; (?(—0)

(0,22) | o
. \ Yg 2 xt3 v
00 ¢ |

1

Y

p- 20f2



